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General Instructions

1. All the questions are compulsory.

2. Please write down the Serial Number of the question before attempting it.

3. The question paper consists of 20 questions and it is divided into four
sections A, B, Cand D.

4. Section A comprises of 5 questions carrying 1 mark each.

5. Section B comprises of 6 questions carrying 2 marks each.

6. Section C comprises of 6 questions carrying 3 marks each.

7. Section D comprises of 3 questions carrying 5 marks each.

8. There is no overall choice. However, an internal choice has been provided in

1 question of 2 marks and 1 question of 5 marks each.

Section A SR e = L\TS)
Q1.which is the basic unit of speed
i m/s ii. Km/s iii. m/hr iv. Km/hr.
I FT OHA AAE AT 82 ‘
i. m/s ii. Km/s iii. m/hr iv. Kre/hr.
Q2. Distance= ____ X Time.(comp/ete it).
T = X FHA (7T FIE )
Q3.Acid +Blue litmus== _____(write the effect on color).
et e Premw, = (G & ggaE ftT e

Q4.a substance. is sour in taste,what is the nature of this substance.
TF TETA FT AT @l 2 AT T TgTd FT wEA P Enf 2
Q5. write one electrical device that work on heating effect of electric effect.
wF fram ITEr #oam Frfee v By ¥ ovrfrr wam o AT A0 7
Section B (2_)({ )

Q6.identify the given figure and name it. Is it periodic motion.?

2 B it wge F AW e Fm ogg A afd g o

o -

Q7.The given diagram shows reproductive part in flower.

i. Name this organ ii. write correct label for A and B from the given oj.tion (Stigm. Ovary,Anther,Filament)
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a7 B o7 F ST S AT 7
wi. =2 v owroam fem il By FFedt § ¥ a A b FT oAET GrEen e
( FEET |, dTOT , TR, A )

A

b

Q8.Arrange the given cell and connect their terminal by drawing lines to form a battery

Ry A= ¥ Hiaw Fr ATl @ET SE F AT gATEd |
- Mo

Or
Draw electric circuit diagram,given electric circuit.

i G afvey w1 Gag afmg arem e

. e e

Q9.ldentify the defect in the given circuit diagram and
redraw it by correcting the defect so that bulb can glow.

iy frge oftrw & &6 #1 T T AT TS , AT @ed ATT BT T

Q10.1dentify the given mirrors and write their name.

& i A wEET W AW e

\ |
Q 11 Draw a diagram of convex and concave lens. which lens forms real image.
QILIAT T eFad o F1 B aArsn AWy Awr § & AmAaten gt A aaa ?

Section C (’3"6)

Q12.The given fig. (Distance —time graph)shows motion of vehicle A and B.
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i Which vehicle shows uniform motion .
ii. When vehicle A start, its reading in odometer is 012356 and after one hour of uniform motion the
. reading in odometer becomes 012390. what distance the vehicle travels in one hour.

WAaﬁrBaﬁwﬁwa;ﬁ~mumﬁm T 2

I.ﬁ?mmwmw%aﬁfrﬂél

-~

1i . S AEA A qAAT OF FLAT & AT FAA TR 012356 =TT 1 TF gz AEE A T FAT
o TRt 012390 =ATAT & A1 AEA A T AL ¥ fradr g 77

6
A

Mt«w('jt@)

Q13.which mirror/lens is used —(concave mirror, convex mirror, plane mirror, concave lens)

a) As side view mirror in vehicles
b) By dentist for examining a patient
c) Asreflector of a torch

frg & 7 AT AT /AT FEEA EET € - ( ¥FAA FTTU ,FHAA TH, AgAE ZH, FFAA A )

a) ATEAT ¥ UTA 39T a7
b) TR #1 &7 FAfEFEEE T IGESLR
¢ I F: TETH

Q14.a.i. convert 2 KM into meters. ii. 2 minute into second.

b asimple pendulum takes 20s to complete 20 oscillation. what is the time peiiod of the pendulum(time taken
to complete one oscillation)

a 2km Fr WE< { T, 11 2 fAe =t AFT ¥ FEAN

bWFWWZQsﬁZOW@W?%WWWW<W e 7 T T "3 )
FAT ZRT |

Q15.A.Ram observed that when a yellow curry stain on a shirt is washed with soap it ch nged into red colour.Give
reason why?

B.China rose indicator is used to test acidic and basic nature of substance. what colour it will give with acidic and
basic substance.

a\Wﬁ?@T%mquﬁﬁ%tﬁﬁmﬁWﬁaﬁﬁWﬁTv‘%ﬂﬁﬁﬁ?ﬂ'ﬂl
FO Y FISA

b et et ¥ ety 7 eraE wFtd A A ¥ frg [gEA 9% (chivayose indicator)3T
eaT AT ST 21 AR MW?WWJ%%WJWW:ITW

Q16.Rewrite by correcting the given sentences:
i.Electric bulb is based on magnetic effect of electric current.
ii.when switch is ON position the bulb will not glow in a electric cnrcuit;‘
iii.A cell have three terminal in it.

frer ARt A1 AR F

I Iﬁwmﬁwmﬂ%?‘ﬁvwmwmwﬁaﬁﬂ%|
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i aftrs & RAs (o) 9 T A A 9 T AT
wﬂ?ﬁ?%ﬂ?%ﬁ?{??ﬁél

Q17.i.wf;ich mode of reproduction is shown in the figure (sexual,asexual)
ii.identify and write the name of the given organism. (Bryophyllum,Spirogyra,Hydra).

iii. Name the reproduction method shown. (vegetative reproduction,budding,binary fission.
L. B & g @ s B gatE T 2. (AR, )
1i BF a7 S A e ww oam b (TR |, FTZIT27T, 8T22T)
Iii. S« BFar &7 amw ot (FIE T, gFed, )
Section D (5>( 3)

Q18.A.match the following:

Column | Column Il

Maple water

Coconut air

Xanthium animals

Spore

B. write two difference between asexual and sexual mode of reproduction.

e #71 e A

FTAH I FTAd 11
BT (maple) AT

B. & 7 e sww ¥ A1 weaw fafAm

Q19.fill in the blanks:

i.light travels along lines. (straight,zigzag,)

ii.an image which can be obtained on a screen is called_____image.(virtual,real)

iii.A concave mirror generally forms image. (real,virtual)

iv.White light (sun) is composed of colours. (six,seven)

v.We see the object due to phenomenonof _____ of light. (reflection,refraction)

| YT vEr § 9ear § (ofrel T, ZRT-HET)

I 7z RfET B e o B T wr Rt wemr g0 crerfT, At
Iii . TF AFA FAU ATA: gfafda =T 8 ) (ATEATE,  AraTdT, )
Iv . #%7 wEer it & e aen e AR

vV LIF F THET FRT AT FT AT ATAT F A, ATAAT )
Q20.a.Acid +Base =-------- = + water.



Bs@ita complained indigestion (acidity)to her mother .Her mother suggest her to take an antacid to relieve

indigestion. explain in brief, Why.?

C.How will you make turmeric paper indicator.
A . ¥FT +HTT------- > + A
B. AT ¥ FvAT #t ¥ sryrew #r fwraa Fn osEAEr At F 3E Fwre gfAaed

Qr

fAefrfm Fav 9 78 & a9 (1) @A a9w g ar (F ) Ffern
I 9% =T § FTAT a1 &

1i ZartaEer gt & @ &1 P gar @

Iii T ¥F Frea 9 FFATT G GAAT ASET gl 2

Iv 2740 q=%F , A% YFA F TR i ST Fwar g

Write (T) for true and (F) for false for given statement

i.Acids are bitter in taste.

ii.Salts are formed in neutralization reaction.

iii.One feel relived by rubbing acidic substance on an ant bite.
iv.Turmeric indicator is used to test basic nature of substance.

v. litmus is not a natural indicator.

g A mETE AT "




